Least squares fit to compound pendulum data
In this exercise you will apply the formulae, given in the data analysis lectures, for the slope and intercept of the best fit straight line to a set of data.  

You will use the spreadsheet “username-comp_pend_data.xls” that you created earlier in the course.  (See Instructions-2-comp-pend.doc).   It should contain the data for a compound pendulum experiment.  In the earlier exercise on propagation of errors you added to the spreadsheet the errors on
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· Calculate the slope and intercept using the LINEST function in Excel.
· Set up the necessary cells in the spreadsheet to calculate the slope and intercept using a weighted least squares fit. (You should be able to use as a template the spreadsheet you used in the earlier least squares fit exercise.)
· From both the weighted and unweighted fit results calculate the value of 
1. the acceleration due to gravity, g, and its error,
2. the radius of gyration, k, and its error.

The values for the two fits will be slightly different.  Add a comment box in which you explain briefly which one you prefer and why?  
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